項目名稱 Project Name	資助額(人民幣) Subsidies (RMB)
災後重建項目 After Disaster Reconstructions 雲南省昭通市	
Zhaotong City, Yunnan Province	
彝良縣兩河鄉大竹村香港吳氏藝院苗圃希望小學 — 加固工程 Dazhu Village Hong Kong Ng's Art School SA-PH Primary School —	206,730
Reinforcement Project, Lianghe Township of Yiliang County 彝良縣蕎山鄉咪咡村倫劉富瓊苗圃希望小學 — 加固工程 Mier Village Liufuqiong SA-PH Primary School — Reinforcement Project, Qiaoshan	164,061
Township of Yiliang County 彝良縣兩河鄉小溪村苗圃希望小學 — 教學樓、學生宿舍、食堂、厠所	2,522,000
Xiaoxi Village SA-PH Primary School — Academic Building, Student Dormitory, Canteen and Toilet, Lianghe Township of Yiliang County 昭陽區舊圃鎮紅泥閘苗圃希望小學 — 教學樓	1,768,000
Hongnizha SA-PH Primary School — Academic Building, Jiupu Village of Zhaoyang Township 昭陽區靖安鄉洪家營苗圃希望小學 — 教學樓	2 172 000
哈物區項女類洪家宮田園布室小学 一 教学後 Hongjiaying SA-PH Primary School — Academic Building, Jingan Village of Zhaoyang Township	2,173,000
水富縣向家壩鎮水東村苗圃希望中心小學 — 教學樓、食堂、厠所 Shuidong Village SA-PH Central Primary School — Academic Building, Canteen and Toilet, Xiangjiaba Township of Shuifu County	1,000,000
小學重建項目 Primary School Reconstructions	
貴州省三都水族自治縣 Sandu Shuizu Autonomous County, Guizhou Province	
壩街鄉光明村天威苗圃希望小學 — 師生宿舍、附屬工程、配套 Guangming Village Print-Rite SA-PH Primary School — Dormitory, Ancillary Facility and School Furnishing, Bajie Township	874,500
廷牌镇高潮村正覺二苗圃希望小學 — 教學樓、附屬工程 Zhengjueer SA-PH Primary School — Academic Building and Ancillary Facility, Gaochao Village of Tingpai Township	780,000
雲南省臨滄市	
Lincang City, Yunnan Province 雙江縣猛庫鎮亥公村苗圃希望小學 — 宿舍樓、食堂、厠所 Haigong Village SA-PH Primary School — Dormitory, Canteen and Toilet, Mengku	727,218
Township of Shuangjiang County 永德縣烏木龍鎮黃皮箐村苗圃希望小學 — 教學樓 Huangpijing Village SA-PH Primary School — Academic Building, Wumulong	1,235,520
Township of Yongde County 永德縣大山鄉秧田溝苗圃希望完小 — 教學樓 Yangtiangou SA-PH Primary School — Academic Building, Dashan Village of	1,235,520
Yongde County	

項目名稱 Project Name	資助額(人民幣) Subsidies (RMB)
江西省贛州市 Ganzhou City, Jiangxi Province	
贛縣田村鎮坪內村苗圃希望小學 ─ 教學樓 Pingnei Village SA-PH Primary School — Academic Building, Tiancun Township of	330,000
Gan County 贛縣沙地鎮坳上村苗圃希望小學 — 教學樓 Aoshang Village SA-PH Primary School — Academic Building, Shadi Township of	610,500
Gan County 贛縣湖江鄉莊前村苗圃希望小學 — 教學樓 Zhuangqian Village SA-PH Primary School — Academic Building, Hujiang	376,750
Township of Gan County 興國縣永豐鄉樟坪村苗圃希望小學 — 教學樓 Zhangping Village SA-PH Primary School — Academic Building, Yongfeng	504,900
Township of Xingguo County 興國縣城崗鄉下洲村苗圃希望小學 — 教學樓 Xiazhou Village SA-PH Primary School — Academic Building, Chenggang	350,811
Township, Xingguo County 于都縣黃麟鄉公館村苗圃希望小學 — 教學樓 Gongguan Village SA-PH Primary School — Academic Building, Huanglin	400,000
Township of Yudu County 南康區龍岭鎮邱邊村苗圃希望小學 — 教學樓 Qiubian Village SA-PH Primary School — Academic Building, Longling Township of Nankang District	432,900
配套及附屬設施項目 School Furnishing and Ancillary Facility Projects 四川省綿陽市三台縣 Santai County, Mianyang City, Sichuan Province	
立新鎮星島苗圃希望中學 一 配套及附屬工程 Lixin Township Sing Tao SA-PH High School — School Furnishing and Ancillary	719,305
Facility 前鋒鎮星島苗圃希望學校 — 配套及附屬工程 Qianfeng Township Sing Tao SA-PH School — School Furnishing and Ancillary	795,000
Facility 新魯鎮星島苗圃希望中學 — 課桌椅配套 Xinlu Township Sing Tao SA-PH High School — Desks and Chairs	79,000
雲南省昭通市 Zhaotong City, Yunnan Province	
溫暖三寶 — 鉛廠鄉紅土村苗圃希望小學 Hongtu Village SA-PH Primary School in Qianchang Township — SA Warm Buddies	16,200
溫暖三寶 — 藥山鎮大富村苗圃希望小學 Dafu Village SA-PH Primary School in Yaoshan Township — SA Warm Buddies 鹽津縣中和鎮大浩小學 — 苗圃溫暖包 Dahao Primary School — SA Warm Package, Zhonghe Township of Yanjing County	20,000

本年資助項目一覽

Summary of Subsidy Projects 2013-14

項目名稱 Project Name	資助額〔人民幣〕 Subsidies (RMB)
大關縣上高橋鄉團結村中原苗圃希望小學 — 維修工程 Zhongyuan SA-PH Primary School — Maintenance Project, Tuanjie Village of	180,000
Shanggaoqiao Township, Daguan County 大關縣天星鎮寨子村香港獅子會苗圃慈航小學 — 維修工程	239,000
Zhaizi Village Lions Club of Hong Kong SA-PH Primary School — Maintenance Project, Tianxing Township of Daguan County	
大關縣壽山鎮柑子村慈善高球苗圃希望小學 — 維修工程 Qianzi Village Charity Golf SA-PH Primary School — Maintenance Project,	373,000
Shoushan Township of Daguan County	
雲南省臨滄市 Lincang City, Yunnan Province	
	124.050
雲縣大寨鄉團結村天威苗圃希望小學多 — 媒體教學設施 Tuanjie Village Print-Rite SA-PH Primary School — Multimedia Teaching Facility,	134,050
Dazhai Township of Yun County 永德縣大雪山鄉天威苗圃希望中心完小 — 媒體教學設施	
Daxueshan Village Print-Rite SA-PH Central Primary School — Multimedia Teaching Facility, Yongde County	
永德縣烏木龍鄉天威苗圃希望小學 — 媒體教學設施 Wumulong Township Print-Rite SA-PH Primary School — Multimedia Teaching	
Facility, Yongde County 雙江縣勐勐鎮章外村天威苗圃希望小學 — 媒體教學設施	
Zhangwai Village Print-Rite SA-PH Primary School — Multimedia Teaching Facility	,
Mengmeng Township of Shuangjiang County	
廣東省 Guangdong Province	
惠來縣周田鎮仙埔村大昌行集團苗圃希望小學 — 課桌椅配套	18,520
Xianbu Village DCH SA-PH Primary School — Desks and Chairs, Zhoutian Township of Huilai County	
苗圃幸福廚房項目 — 資助廣東省41所小學設置幸福廚房(包括廚房改造經費、電氣設備及啟動經費)	1,043,426
SA Happy Kitchen Project — sponsor 41 primary schools in Guangdong Province to set up a proper kitchen (includes the fee of reforming the kitchen, buying	
electrical equipments and the start-up fee)	
汕頭市4所、韶關市9所、河源市5所、梅州市6所、汕尾市3所、陽江市2所、湛江市6所、茂名市3所、清遠市3所。	
4 schools in Shantou City, 9 schools in Shaoguan City, 5 schools in Heyuan City, 6 schools in Meizhou City, 3 schools in Shanwei City, 2 schools in Yangjiang City, 6	5
acharla in Thanilana City, a saharla in Masanina City, and a saharla in City, and	

兒童福利院項目

City.

Children's Home Project

雲南省昭通市水富苗圃兒童福利院 — 運作經費 Shuifu Sowers Children's Home, Zhaotong City, Yunnan Province — Operation Cost

schools in Zhanjiang City, 3 schools in Maoming City, and 3 schools in Qingyuan

99,000

項目名稱 Project Name		資助額(人民幣) Subsidies (RMB)
女子高中項目 Girls' High School Project		,
廣西省南寧市苗圃行動華光女子高中 — 運作經費 Nanning Sowers Action Huaguang Girls' High School, Guangxi P	rovince —	1,000,000
Operation Cost	TOVITICE	
其他項目		
Other Project		
甘肅省甘南藏族自治州夏河縣麻當鄉化旦尖措孤兒學校 — 2013-2014	4年度運作經費	676,000
Huadanjiancuo Orphanage, Madang Township, Xiahe County, Ga Autonomous Prefecture, Gansu Province — Operation Cost 2013		
Autonomous Prefecture, Gansu Province — Operation Cost 2013 2013–2014年度香港學生課後輔導計劃	5-2014	192,000
Sowers Action After-School Tutorial Program 2013–2014		
項目名稱	参加人次 参加人次	資助額(人民幣)
Project Name	No. of Participants	Subsidies (RMB)
師資培訓項目 Teacher Training Programs		
特殊教育		
Special Education Training		
2012-2014年度雲南省特殊教育師資培訓		
Special Education Teacher Training Program of Yunnan		
Province 2012-14 校長上海考察	16	53,233
Yunnan-Shanghai Principal Exchange Program	10	00,200
送教上門	280	51,470
On-site Training Program 專題送教	N/A	1,716
On-site Training Program with Specific Subjects		·
心理健康		
Mental Health Education		
2012-13年度雲南省昭通市大關縣中小學教師心理健康師資培訓項目	40	10,272
Mental Health Education Training for Teachers of Daguan County, Zhaotong City, Yunnan Province 2012-13		
2012-13年度四川省廣漢市中小學教師心理健康師資培訓項目	25	12,564
Mental Health Education Training for Teachers of Guanghan		
City of Sichuan Province 2012-13 2012-13年度四川省綿陽市三台縣中學教師心理健康師資培訓項目	360	108,064
Mental Health Education Training for Secondary School	000	100,004
Teachers of Santai County, Mianyang City, Sichuan Province		
2012-13		

項目名稱 Project Name	參加人次 No. of Participants	資助額(人民幣) Subsidies (RMB)
2013–14年度四川省綿陽市三台縣小學教師心理健康師資培訓項目 Mental Health Education Training for Primary School Teachers of Santai County, Mianyang City, Sichuan Province 2013-14	600	282,741
學校管理通識 General School Development		
2013–14年度中青基教師培訓計劃 China Youth Development Foundation Teacher Training	1,750	1,242,354
Program 2013-14 大雪山以點帶面項目	1	1,460
Yongde Daxueshan School Project 永德縣教師培訓項目 Yongde Teacher Training Program	70	23,097
英語培訓 English Education Training		
2012–14雲南省昭通市大關縣師資培訓 English Education Training for Teachers of Daguan County, Zhaotong City, Yunnan Province 2012-14	87	13,074
幼師培訓 Pre-school Teacher Training		
雲南省學前教育師資培訓 — 臨滄市雲縣茂蘭鎮中心幼兒園交流計劃 Teacher Training Program for Pre-school Teachers of Yun County, Lincang City, Yunnan Province — Exchange Program 2012–2014年度甘肅省學前教育師資培訓項目 Teacher Training Program 2012-14 for Pre-school Teachers of	25	7,523
Gansu Province 園長、骨幹教師赴蘇州學習	18	57,625
Suzhou Study Tour 暑期集中培訓	300	78,042
Summer Intensive Training 送教上門	300	2,909
On-site Training		
項目評估 Program Research	N/A	214

省、市 Province, City 高中生三年資助計劃	縣 County	年度 Year	名額 No. of Students	資助額 (人民幣) Subsidies (RMB)	總金額 (人民幣) Total (RMB)
3-year High School Student Sponsorsh	ip				
雲南省臨滄市 Lingcang City, Yunnan Province	市一中 The 1st High School of Lincang City	2013-16	38	3,000	114,000
	市二中 The 2nd High School of Lincang City	2013-16	13	3,000	39,000
	市三中 The 3rd High School of Lincang City	2013-16	30	3,000	90,000
	雲縣 Yun	2013-16	37	3,000	111,000
	鎮康縣 Zhenkang	2013-16	20	3,000	60,000
	鳳慶縣 Fengqing	2013-16	53	3,000	159,000
	滄源縣 Cangyuan	2013-16	28	3,000	84,000
	臨翔區 Linxiang	2013-16	27	3,000	81,000
	雙江縣 Shuangjiang	2013-16	40	3,000	120,000
	耿馬縣 Gengma	2013-16	49	3,000	147,000
	永德縣 Yongde	2013-16	39	3,000	117,000
雲南省昭通市 Zhaotong City, Yunnan Province	魯甸縣 Ludian	2013-16	60	3,000	180,000
	巧家縣 Qiaojia	2013-16	47	3,000	141,000
	威信縣 Weixin	2013-16	57	3,000	171,000
	鎮雄縣 Zhenxiong	2013-16	109	3,000	327,000
	水富縣 Shuifu	2013-16	30	3,000	90,000
	綏江縣 Suijiang	2013-16	26	3,000	78,000
	鹽津縣 Yanjin	2013-16	56	3,000	168,000

省、市 Province, City	縣 County	年度 Year	名額 No. of Students	資助額 (人民幣) Subsidies (RMB)	總金額 (人民幣) Total (RMB)
	彝良縣 Yiliang	2013-16	56	3,000	168,000
	昭通市直 Zhaotong City District	2013-16	55	3,000	165,000
	大關縣 Daguan	2013-16	33	3,000	99,000
	永善縣 Yongshan	2013-16	80	3,000	240,000
甘肅省慶陽市 Qingyang City, Gansu Province	慶城縣 Qincheng	2013-16	29	3,000	87,000
	寧縣 Ning	2013-16	56	3,000	168,000
	鎮原縣 Zhenyuan	2013-16	75	3,000	225,000
	環縣 Huan	2013-16	99	3,000	297,000
甘肅省平涼市 Pingliang City, Gansu Province	靜寧縣 Jingning	2013-16	54	3,000	162,000
甘肅省天水市 Tianshui City, Gansu Province	張家川縣 Zhangjiachuan	2013-16	76	3,000	228,000
	清水縣 Qingshui	2013-16	27	3,000	81,000
甘肅省定西市 Dingxi City, Gansu Province	岷縣 Min	2013-16	74	3,000	222,000
貴州省黔南布依族苗族自治州 Qiannan Buyi and Miao Autonomous Prefecture, Guizhou Province	三都 Sandu	2013-16	57	3,000	171,000
四川省凉山彝族自治州 Liangshan Yi Autonomous Prefecture, Sichuan Province	雷波 Leibo	2013-16	40	3,000	120,000
	布拖 Butuo	2013-16	20	3,000	60,000

省、市 Province, City	縣 County	年度 Year	名額 No. of Students	資助額 (人民幣) Subsidies (RMB)	總金額 (人民幣) Total (RMB)
大學生四年資助計劃 4-year University Student Sponsorship					
雲南省昭通市 Zhaotong City, Yunnan Province	鎮雄 Zhenxiong	2013-17	24	10,000	240,000
	永善 Yongshan	2013-17	11	10,000	110,000
	彝良 Yiliang	2013-17	9	10,000	90,000
	鹽津 Yanjin	2013-17	11	10,000	110,000
	威信 Weixin	2013-17	14	10,000	140,000
	魯甸 Ludian	2013-17	10	10,000	100,000
雲南省臨滄市 Lincang City, Yunnan Province	鳳慶 Fengqing	2013-17	19	10,000	190,000
	雲縣 Yun	2013-17	11	10,000	110,000
	鎮康 Zhenkang	2013-17	6	10,000	60,000
	滄源 Cangyuan	2013-17	6	10,000	60,000
	臨翔 Linxiang	2013-17	14	10,000	140,000
	雙江 Shuangjiang	2013-17	6	10,000	60,000
	耿馬 Gengma	2013-17	7	10,000	70,000
	永德 Yongde	2013-17	12	10,000	120,000
貴州省黔南布依族苗族自治州 Qiannan Buyi and Miao Autonomous Prefecture, Guizhou Province	三都 Sandu	2013-17	20	10,000	200,000
四川省涼山彝族自治州 Liangshan Yi Autonomous Prefecture, Sichuan Province	布拖 Butuo	2013-17	10	10,000	100,000
	雷波 Leibo	2013-17	10	10,000	100,000

省、市 Province, City	項目 Project	年度 Year	名額 No. of Students	資助額 (人民幣) Subsidies (RMB)	總金額 (人民幣) Total (RMB)
其他學生資助項目 Other Student Sponsorship					
雲南省昭通市 Zhaotong City, Yunnan Province	巧家縣特殊教育學校 一 學生生活費補助 Subsidies for Students of Qiaojia Special Education School	2014	96	920	88,320
甘肅省甘南藏族自治州 Gannan Tibetan Autonomous Prefecture, Gansu Province	夏河縣麻當鄉化旦尖措孤 兒學校 — 學生生活費補助 Subsidies for Students of Huadanjiancuo Orphanage, Madang Township of Xiahe County	2013-14	45	400	68,400